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Problem #4.9.
There is no need for a ‘subtract immediate’ instruction because the programmer can simply perform and immediate add of a negative number. (Ex. addi $t0, $s1, -100)
Problem #4.10.
This single instruction can be written as the sequence:


addu
$t2, $0, $t3
#Put $t3 into $t2 without regard to sign. If






#$t3 is positive, we are done. So, …



bgez
$t3, 8

#... if $t3 (with regard to sign) is greater than





# zero skip the next instruction (only one).



sub
$t2, $0, $t3
#Only if $t3 is less than zero with regard to sign






#change the sign by subtracting it from zero.

Problem #4.20.
This instruction sequence is basically a 64-bit shift right logical instruction with $s0 containing the most significant bits of the 8-byte word. The results remain in the original registers.
We could call this instruction something like ‘srl64’.
